
PRODUCT IMAGE SHOWN IS FOR ILLUSTRATIVE PURPOSES ONLY, SHOULD NOT BE TAKEN AS REFERENCE POINT

INSTRUCTIONS:

1- ALIGN THE HOLES ON THE BACK OF THE BRIDGE AND THE PIER WITH THE BRACKET.

2- SCREW THE BOLTS IN AS SHOWN IN THE DIAGRAM.

PIER

BRIDGE

TV-STAND

1

2

DESCRIPTION # PCS

ROUNDED HEAD SCREW 5/16 X 1-1/4" 4

HARDWARE

WASHER 5/16" 4

BRIDGE SUPPORT 2

CARRIAGE BOLTS 5/16 X 3/4"

WASHER 5/16"

BRIDGE SUPPORT

ASSEMBLY INSTRUCTIONS

I-BRD-C001


